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(B) Port Blair
(D) Silvassi

. Ifafunctionf: R — R és dcfined by
f(x) = X* —9x + 22 then { (41 =

(A) {-3.6} (B) (3.-6)

1 (C) (3.6} (D) ncne of these

Unit of cryoscopic constant is
(A) K kg mol-' (B) mol kg-! K-
(C) kg mol-! (D) g mot!

i Which is net an Assignment Operator ?

(A) += (B) !=
(C) /= (D) =

. Panchkula IT Park was established in
the year

(A) 2006 (B) 2005 "»‘h'u ‘
(C) 2008 D) 2004 ‘
v §
). Choose out the odd one. _‘__i Ef ;
B ¢ ]
(A) Read ( )ﬁ,‘ \
(C) Knowledge (D) Write

3. Yamunanagar of Haryana is also calicd as

oo

b

Telegram/etayarigovijon

(A) Steel city
(B) Coppcrﬁgy
(C) Textile city
(D) f’apér"é}y‘
TheAllahabad Pillar Inscriptien wascomposcd
by which of the following scholar ?
(A), Chanakya
(B) Vishnusharma

) Mayura
(D) Harishena

Q s

10.

1L

t4.

5/2019 (1) (M2)

mwm?mmam%ﬁmm
o Jlnmes Ry
(A) T (B) 9 sqr
(C) i (D) &
YR EHFEA f: R = R, f(x)=x-9x + 22
A FRonfE Am R, A -4(4) =
(A) (-3.6} (B) (3,-6)
(C) {3.6) (D) FHAFR TG
AR e fedia 1 3 w1 8 7
(A) K kg mol~" (B) mol'kg? K-
(C) kg mal™! < (D) gamol*!

E
T A B ST A 6 B 7
(A) = (B) !=
(u] 2y & D) =
gt [ o a3 s foea e o 2
(A) i\ﬁmﬁ (B) 2005
(C) 2008 (D) 2004
fémg'l’u
(A) Tel (B) @
(C) gf4a (D) W& J
mwn%agnmﬁ_aﬂuﬁaaam%
(A) TEI1Q 1 I
(B) a1= T MR
(C) T9S1FHI A&
(D) FIT i T& _
AT Ty firerere Frefelaa i | Fg
faEm gam fa 2 2
(A) TR
(B) forsuygrai
(C) W
(D) wftaw
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21, “ACentury Is Not Enougl\" isautobiogmphy

22.

2.

25.

~of which of the following cricketer ?

(A) Sunil Gavaskur
(B) Virat Kohti

(C) Sourav Ganguly
(D) None of the above

A vector of magnitude 10 units perpendicular
©0a=i+ j—k and coplanar with the vectors
— -5
b=2i-j=-kand c =i+2j-kis
L 10G +3+K)
V6
i+j+k
10
10@3i —4j-k)

26
(D) none of these

(A)

(B) *

(C)

What i8 the magnitude of the vector
" A
10i -10k (ms™* ?

(A) 1O ms!
(C) - 10ms"!

(B) 14.1 ms”
D))

Nodes that do not huve @y chijl,drcn are
called _______nodes.

(A) Parent (B) thld
(C) Leaf (D) Root

The Soutfernpart of Aravalli hillsis locally

knovn as
(A) Yambnahills  (B) Marshall hills

(@) Bunger hills (D) Mewat hilis

‘Choose the number-letter group which is
Adifferent from the others.

(A) 24X (B) 12M

C) 22V (D) IBR

21.

22,

24,

25.

26.

-5-

5/2019 (1) (M2)
T AR P i e e
(A) Tt T

(B) fawe =gt

(C) Fhear e

(D) I o 3 H Tl

wfmm 10 siéd 71 o afkw :=i+j-k
¥ waaa & oftc gl b =2idj-k s
?=i+2j—k Ex:rochd

t10(i+j+k)

“ 26

100i —4j=K)
+i=
©) -~

(D) 7 R &1¢ 7l

A A
aW[mi -10k ms™! F o Y 7
1 |

(A) 101’“5’l (B) 14.1 ms‘l ':ii“-
il

(C) = 10 ms+! (D) 0 ‘_]
-

e St g 1§ e

FEem & |

(A) ¥R (B) IWE

(C) &% (D) ®&

Tt qEigt 3 < v ) e w9 3

Faamaam It k2

(A) 7T Rzl (B) FE qefzd
() am A qefzd (D) Rama 9 ezt

- Fqe < S gE @ I Al
(A) 24 X (B) 12M
Cc)2v (D) I8 R
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27. [feis an imaginary cube root of unity, then '
~ thevalue of (I + 0 - 0°)' - (1 -~ @+ )’ =
(A) 27 (80
C) 16w (D) 32
28. The place were highest average rainfall in
Haryuna is
(A) Mewat district
(B) Hisar district
(C) Sirsadistrict
(D) Ambala district
29. Set of vertices and edges which connect
them aie called as
(A) Tree (B) Sub Trec
(C) Node (D) Graph
30. Aligarh fort located in Hansi which was

32.

13.

built in 12" Century which alse called as
(A) Fort of Knives (B) Fort of Staves

(C) Fortof Axe

Which one does not be!ongrlfa that | grpup i
(A) JUST : SUTJ
(B) HAVE : AVEH
(C) DONE : NOED
(D) WITH " TIHW

ber of classes ars derived from a
‘ , it is called as

]

y

(1) Hybrid
(D) Multiple

Complete the anal
KORT : PTWO %

(A) CINR
(C) JSMR

(D) For ofsvao:&'

26.

29.

31

32.

(AR UK DO BRI R
o o A T 8, G|

R 0 TF
(1+cb—~d-)’—(l—w+w’J‘W"T"%
(A) 27 (8) 0

(C) 16 ® (D) 32
Mﬁf’ﬂ?mmwﬁ?ﬁafTWam

%o

(A) HaTm fSen E&-

(B) fear Ryen P

(C) T e \

(D) STl fore #-4.-:

R 3l FAT i IR e E3R
n & »

(A) & (B) €& &

(C) TTe (D) TH
. erE R st i Feen S 12 4 @
T ft e R

(&) s e (B) onfel @ R
(€) Feerd 1 fFan (D)Wﬂiﬁ'—m—
frfafec d g Frm R gefra @i

(A) JUST: SUTJ

(B) HAVE : AVEH
(C) DONE : NOED
(D) WITH : TIHW

MREFF AT TGN, AW

SN FE AL |

(A) FgFNT (B) Ta
(C) s (D) Fgarht
FUEAT 1 Y |

KORT : PJWO : : FINR : ?

(A) CINR (B) KDSM
(C) JSMR (D) GJOS
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4. The Haryana Panchayag Raj Act came into
r force in the year

(A) 21 April 1994
(C) 22 April 1994

(B) 23 April 1994
(D) 20April 1994

5. Ify=tant [‘Zﬁ:%:%:i—)men ﬂ.-_

(A) n (B) ;

€ -1 (D) none of these
36. Which operation can be performed on

pointers ?

(A) Multiplication of two pointers
{B) Compare two pointers

(C) Division of two pointess

(D) Addition of two pointers

37.

government cxpense is called as,

(A) Tirtha Darshan &

(B) Beti Bachao y

(C) Sri Darshan - &

(D) Buda Bachao ; 4
During the National Mosement of India
which day was observed s Independence
Day ?

(A) August 16, 1946

(B) January 26, 1932

(C) January 26, 1930

(D) August 15, 1929

38.

d
9. 1y (o50+ < then S =
N\ N
(A) | (B) e
1
= (D) O
© ; )

A scheme introduced under which u senior |-
citizen with BPI. card can go pilgrimage at

38,

36.

878

39.

etayari.com

5/2019 (1) (M2)
ERaTon JeETe U i ok
% 3t |

(A) 21 ¥ 1994
(©) 22 1994

(B) 23 1994
D) 20 19”’

Uﬁ y= tan-! [ﬁx_}s}_ﬂ_i) ?h

dy
dx

(A) © (B) ’§

(D) & Fé

gz T A = s naa § 7
(A) 975 F1 T
(B) @ wiged R g
(C) R 9iged = forarem
(D) A uiged & i3
i

T Al % 1 T 2 Rred sfarta A
FEEA T q AT £ didar w5 @

TERAEEHON T4 Fxarar § 1
(A) dd zdf7 g
(B) ¥ a=nan 4
(c) Az '
(D) T T

©) -1

WIE & T Al & A fre fer
wda f2a8 & 59 § w3 w1 @ ?

(A) 16 &, 1946
(B) 26 9311, 1932
(C) 26 97, 1930
(D) 15 3T, 1929
Ay (ot 9
(A) 1 (B) e

(D) 0

I
(&)
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was establi

(A) 1985
(C) 1982
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47. To which of the following city the capital
‘of Magadha was shifted from Rajagaha ?

(A) Taxila (B) Agra

(C) Pataliputra (D) Banaras

48. If o and P are the roots of the equation
px*+gx +r=0then o’B+ P is

Ay {@=2m) g r@’-2rp))
J

P p’
Yol
(©) r(g psz) (D) r°(q p] 2rp)

49. What is the rank of Incia in the World
Happiness Report — 2019 released by
the Sustainable Development Solutions
Network for the United Nations ?

(A) 140*
(B) 156*
(C) 160*
(D) Nonc of the above il

50. Let f(x) --xc%. x# =l then the value of

a for which fol (x) =xis
) 4
(A) 1 B) 3

ey (D).0.

N

51. C,H.0j +H,0 ’L CoHuOo"'C'«Hn.oo;
order and molecularity of this reaction 18
(A) 1,2 (B) 1,0
(C) 0, ! (D) 2.1
1.52.  The process of linking.zhc function call to
" the function definition 1s called as

(A) Data hiding (B) Encapsulation

(C) Abstraction (D), Binding

47.

48,

49,

sl

52.

5/2019 (1) (M2)

M A TRAYH F TR | e e
oAtate foFm T om 2

(A) agRIen (B) amm
(C) Tefiga (D) TR

TR o 3 B &fiew px*+ qx + 7= 0 g
E, A g+ pa?

r(ql_zm) (B) rz(qZ _2.,2 2
(a) 1@ =20) s

P

©) r(q -2tp) D) rilg’ —2m)
p p
I T 5 HAT A Feg Fed
{ETUST_QIWWQWWW-ZOW
# e e w7
(A) 140
(B) 156*
(C) 160
(D) I # B Y el
TR f(X)-%.xt-l A o 7 o
o fof (x) = 2 8 :
1 _

(A) | (B) 5 {
©) -1 (D) 0

ww G F ik s @ 7
(A) 1,2 (B) 1.0
©) 0, | (D) 2.1

CRH::OH + H,O-l.—o C(.leo +CtHllo‘;

AR T T ST g A g i s
1 FEl AN 7

(A) 2 TR (B) THHEIRRIA
(C) WHgaA (D) aEf=En
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53. InGurugram of Haryanathe Maruthi Suzuki |
- Pvt. Ltd. was the first company that set up
a manufacturing unit in this city in

(B) 1980s
(D) 1970s

(A) 1960s
| (C) 1950s

54. Choose out the odd one. : -
(B) Triangle

(A) Square

(C) Cube (D) Rectangle
§5. In the group {1, 3, 7.9} under ®

(38, 7)"=

(A) 3 (B) 7

)9 (D) 1

56. Which Article of Constitution gives power
to Supreme Courl to issue writ ?

(A) Article 32 (B) Article 38
(C) Article 36 (D) Atticle 30

__init__() is a special method. which is
called as

(D) None of the above

The first meeting related to Non- Cooperation
Movernent was held at’i’fdipal.!}l 1990
(A) September (B) January

(C) October (D) March

59, l’:![ﬂl’{h,‘ﬂ Charita is written by

na Bhatta
am Sharma

, Indian N4 %Anny beiongs to
% (A) Lala Lajpath Raj
(B) Lal Bahadur Shagyi
. (C) Mohandas Karamchand Ganghi

(D) Netaji Subhash Cha%ﬁme

-10-
W

. ®E {1.3,7.9) %@,

(A) 32

(A) Class constructor . h
(B) Class definition Q
(C) Class destiuctor 4 llhy
AJ- y
- 4

. & a9fa

(B38,7''=
(A) 3 (B) 7

(©) 9 ¢ . (D)1

ffen=. &1 H-T1 37 gars AW

(B) 387 38
32 36 (D) =32 30

(D) 373 | A A e

. TR F=1eR R @ wafia veet a9

Iiiga 1990 ¥ A TR & JEifTd &

ot 9.
(A) Rat (B) S0
(D) =€

(C) FFH
3 foran |

(A) &8

(B) aeqq® i
(C) =M g
(D) FFarm st

. WRGIE TR @1 fre wanfim forn man o

(A) TcHi o9 T
(R) =& FeeT A
(C) WigAeTH T2 Tith

(D) Tt guTS = w4
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61,

62.

63.

65.

Which of the following is nat a treaty signed
due to Cold War ?

(A) SEATO (B) NAM
(C) WARSAW (D) NATO
Complete the series.

017 538,165%7

(A) 117 (B) 129
©) 119 (D) 99

Book titled *We are Displaced™ authored by
(A) Malala Yousafzai

(B) Aung San Suu Kyi

(C) Dr. Samir Sharma

(D) None of the above

The plains are made up of send. clay, silt and
hard calcarcous gravels locally known us

(A) Saras (B) Bunkers

(C) Kankars (D) Kamals

]
A particle moves in the xy plan? starting
from the origin at t = 0 with an initial
velocity having an x.compenent of
20 ms™' and ay component of - 15ms™'. The
particle experiences an acceleration in the
x direction, given by a_=4 ms-*. Determine
the total velocity. vector at gny time.
s \ B A
(A) v, =@0+40)i-150)
- \ A
(B) wp=(20+4t)i=15]
- A %
(C) v =(10%60)i-150]
— ) A
D) v =(5+61)i-15]
Which Governor General of British India took
initiation to establish local government ?
(A) Lord Rippon
(B) Lord Irwin
(C) Lord Curzon

(D) Lord Lytton

.11-

61.

62.

63.

64.

66.

5/2019 (1) (M2)
i 72 % ol PR 3 & 9R-eh

wenafE 76 g 2

(A) SEATO (B) NAM

(C) WARSAW (D) NATO
TEen Qi it |

9,17,33,65,?

(A) 117 (B) 129

(C) 119 (D) 9

A am forche EFgFH Fgs PR ?
(A) TN JqFE

(B) 1187 g )

(C) &, w2

(D) TR 1 A F4 7

e gt 3§, Bed, me ol wE SR
m@ﬁm%,ﬁvﬁmmﬁm m™a
AT STaT 2 7

(A) T (B) a=d

(C) HFE (D) FH

T I xy 98 4 99 W@ R, eH @i
T t = 0 %, 980 20 ms™* & x T2 SN
- 1Sms % y G2 FEm yrfw an AR |
01 x fon & U e o Srgva e &, AT
a‘=4ma"% | feeh) +ff T 9z D aws

w9 Fruffa #t |

(A) v, =(20+41)i-150
(B) ¥, =(20440)i-15
©) ¥ —(10+61) i-150 ]
(D) v, =(5+60)i-15]

fafen v & g e 9@ A i TR
) T & fom age fora m 2
(A) A8 fTa

(B) diie qfam

(C) & Foi

(D) &g ferm
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67.

69.

70.

71.

72.

73.

'7.;1. Chousc the word which is least like other

l

Complete the analogy.. J
BAYZ: CUXW ::FEUV:?

(A) GHTS (B) BAYZ

(C) EFYU (D) HGST

Basel norms and frameworks are recently
in news, is related to which of the following

sector ?

(A) Healthcare Sector
(B) Industrial Sector
(C) Banking Sector
(D) Nonc of the above

On 24* October 2015, Haryana Government
announced to start Sanskrit University al
(A) Rohtak (R) Ambala District

(C) Vidhan Sabha (D) Mundri Village

Pots are made in Haryana by using clay
on the

(A) Table
(C) Nagotsav

(B) Ladder
(D) Wheel

Minimum support prices for various

agricultural crops announced by

(A) Parliament Committee on Public
Accounts

(B) Parliument Estimates Committce

(C) Cubinet Committee on'Economic
Affairs

(D) None of the nbove

If DELHI can:be coded us CCIDD, how
would you code BOMBAY ?

(A) AMJ@S (B) WXYZAX
(C) VSu (D) AIMTVT

Phag dance is performced in the month of
(A) Phalguna (B) Jyeshta
(C) Pushya (D) Vaishakh

1

words in the gi?up.

(B) Swichiometry

(A) Algcbra
(D) Geometry

(C) Trigonometry

4

-12-

il '
67. gaEqd |

69.

72,

73.

74.

AT O NN

XW :: ﬁUV: ? o
GHTS (B) BA
((é; EFY_U. (D) HGST
Fae T o TG 1 & TR |
A a e dm A wata R ?
(A) @R 2@ &
) atenfim &7
(©) &fem &=
(D) mfﬁﬁ%wﬁ
24 ST 2015 RAMEFEFRS ___
i g RrafeTeg e & ) e 6
(A) Fers | (B) e e

BAYZ: CC

FH & 1=
R g 3 o =g s

(A wdafE T 6wz aRR

(B)mﬁmm
(C) il TveTt A HRe s
(D) I70=r & @ TN !

M DELH! H CCIDD % ¥ & F/f¥a i
gﬂv;mt,a} 319 BOMBAY % &3 w12

(A) AMIXVS
(C) MJXVSU

®T T
(A) =3
©) ™=

(B) wxyzax
(D) AJMTVT

¥ 1R & fas a1 2 |
(B) Rrg
(D) 3y

IR T IS TR & i aF
mﬁﬁ! TG o g 312 § T 79

(B) wadimwitafa
(D) STy

(A) gimfir
(C) =iy
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English Language

Jtin the blank with approprinte modal form from
Yong the choices.

75. It's late. It's time home.
(A) we must go

(B) we went

(C) we should go

(D) wego

#d the sentence to findout whether there is any
&mmatical error or idiomatic errorin it. The error
any, will be in one part of the sentence. The
imber of that part i< the answer.

76. Being a cold day/ncither my fricnd/
1 2
nor 1 was in a mood/to go cut.
3 4
(B) 4and 3

(D) 1

(A) 2
(C) 3and 2

cloct a word or phrase from the given options to
omplete the sentences.

Fill in the blank by choosing the appropriate cinuse
form from among the choices.

79. Colintold me about his new job,
very much.
(A) which he's enjoying
(B) he's enjoying it
(C) he's enjoying
(D) that he's enjoying

Against a key word is givep four suggested
mcanings. Choose the comrecl word or plirase which
1s opposite in meaning to the key word.

80. Quixotic
(A) Fantasfic
(B) Practical
(C) Romantic
(D) Imaginary

lAgainst a key word is given four suggested
meanings. Cheose the correct word or phrase w hﬁb-
is in meaning to the key word. c

81. Retentive

77- If you need a coat you Avill have to buy (A) grasping and greedy
as 1 cannot give you mine. (B) experimental
(A) one (C) secretive
(B) any (D) not forgetful
(C) some 43 : .
D) Fill in the blank with appropriate form of the verb
(D) 't‘ from among the options given below.
78. AIu&gh he worked veryhard | 82, We're good friends. We cach
{ other for a long time.
(A) have known
( (B) knew
(C) inspite of it he did not (C) have been knowing
) (D) hc did not (D) know
.13- O
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